f1a - N P . .
0. [m"t et db j('-c?m))(l*c?llt))dt = -gJoQ-wL RN + cr@t) At

@
=3 f(l coa’ @)t cn28) - con®AtN AL = —-{jlclicw“ [ o1~ @) ~Jwt+m§%)
W——J > J,
@Lat w = inlb)  duvlem@e) dE ain*(26)
t=0-— w=0 tnn—-—)(;_’o
""l‘[flalb"r“ LR
il WD) =& [l v cuer)dt]

FLel] -LLe)% ;mmm] Pl wedt o ddusdt

+
’-‘g[(v—o)-;[(w—o\ ¥ 4 i o ]}
7 (

Tt henel) - (T r0) -

il

2. [tan'040e 1046 » [ 4nte (11tan’0) 420 d 6 [ [+ 6an0 sue'6 ]

= [ wrivu?) du = Su® + Yl = 3 5

$7.3 - 5

}{i f“bj Pa-H\a.aorean
l.jmc\x x= Ltan 4 = —;-‘_--; Theorem .

I x= 2tan 6 = dix = 2 42?0 dB

jc““'& 2aee?Bd B . J‘é ton> © 2046 | (124400 2ec?OdE
mee)?w 4 sec'd 2 A2ec B

(2ten®)" +4 = 4tunld +¢ 5 Y(tan’b+1) = Haec'D
28 tun6 220040 = 3 [ tan’ © tand 2cc8d0 = 8 [(a2e’6-1) ton Barsbus
fb w= seed »dn> secbtanbdd
= gflwr-Nelu = B[a -]+ C = Bud - Sut( - Baee 39 ~BaaeB+C
B%j obove A, Aec = ~xlxd,

>N

“

- 4T - 3(J—=w)+<; N g




(0. j;if_____‘& t =Jatan B

@.
t
Nt2+2 db = JZ 44e?6 o8

i
- | (Bn®) 5040, jz”‘ tam® © 242 0 A6
{ (Rtan®)? 12 V2aee?0
——————

(itan 0" 42 2 2tan? 6 ¢2 = 2 (f2p +1) = L ane?d

% Y
. 5 2= t""‘sf s © g =..15’*[tm‘9 0846 25"[%"9 o & a2 64 6
‘Ale

'-'lzj (sec’® =1)* tam 8 aec B d.60 Lt w=aeed ~ du s ee Gtan B lE

P @-1) =2"‘5(u‘*—lm‘+l§d.u‘-f/<‘—*i 28 L
5 3
=l;"€&c§2 —&ﬁ%’ﬁ,«me)fc 8y A 4O gz
5 5 g 3 3
GERY - 3 (SEY - (R e

=TT (g5 (o) =2 (4242) + 1) + C

5 =g e x T e ragjon exlos y s xR
od > o0& x &l whouk gay

f, / o
1 / S‘\e“ me‘H\oc‘: l»\-_- ‘j e xm

b« _"_:\Ier‘\"(”hin'j r= |~x

waith respect to X, .

V= 2n f C=-x) (e JT= ) dx
o ® °



\ T
MG dr 22 [ i€ [T5076 - cn 66
° 0

‘“'/L

20 {0 (06 b db

. 50“/2‘“"“16 a0 46 -211( (“m&m)(Hm@fﬂ)a&
T .
ST (-ace)o - T (Traes - T () - b)) 40

Lo w= 486 dii=4pdl - tdu=dd G20 = u-0
é’%-ﬂ:u.f-lﬂ

=5 g(“%w\‘frdm= = S;a -coruw) dan = l(t«.“&mw]

= :“—? [(lrr -~ A 2A) - (0 -MO\] = ’I—: - AT = Bgi

B l‘ﬂf(( *Nx ST Vo = —%" -.T_lgl

r———— e



